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Skala 1:100/500

Przekr6j 24+712
Fw=63,1 m2 Fn=3,4m2

213.18 213,18
MaxPP. 212,68 m. npm.
\ NPP.m212,20 m. npm. /1
- -
— | I51% I=1% I
pp. 208,00 m npm.
Rzgdne terenu gzxn T g 2 a @ a ae @ a a e 8 2 8%
Rzedne nlwe]ety dna <oz S S S = S S =22 = S S S S S = @
AN N N N N N N [S S N N N N N N e e
(=) (=] (=] =3 (=] O" O" S [ =3 [
2s 2 = S S 5 g g 5 d S Z 2 3 5g

Odlegtosci

Przekr6j 24+780
Fw=67,7m2 Fn=3,8m2

213,18, —213.18
MaxPP. 212,68 m. npm.
\ NPP.m212,20 m. npm. /

— -

— | | IF1% =1% | |
pp. 208,00 m npm.
Rze¢dne terenu 2L 8§ =2 Q 2 b 8 o8 8 8 8 2 & 8 aa
Rzedne niwelety dna
Odleglosci 225 & 2 = 3 9 § I % ER- = £ 4 53

Przekr6j 24+830 . _ _
MaxPP. 212,68 m. npm.
NPP.m212,20 m. npm.
/\
R
— I=1% =%
pp. 208,00 m npm.
Rze¢dne terenu ey = Iy % 5% = 5 2 =¥
Rzedne niwelety dna o= = = = =2 = = S =
Odlegtosci = 2 = 5 E % 2 T 83
Przekroj 24+880 Fw =499 m2 Fn=3,1 m2
213,18 | 213,18

MaxPP. 212,68 m. npm.
\ NPP.m212,20 m. npm.

—
Il

1% B —

pp. 208,00 m npm.

Rzedne terenu 82 = 2 ES g 82 2 =y 2 s 23

Rzedne niwelety dna o= = = = g 33 32 S a S
oo - = =) <) o = =) S e oo
P A a Q a & 3 3 e S

Odlegtosci




